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What is virtual memory? Why is it called virtual?
Write the advantages of virtual memory?
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8.  Why do we require memory hierarchy?
Show the memory hierarchy diagram.

A BRRXG! B AAIIHAT a1 Bl 2 |
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Discuss various types of pipeline hazards in details.

faf=1 ypR & Tolrs @ fawga 4 AT @R |

9. What is an addressing mode ? Explain any four

types of addressing modes with example?
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Full Marks : 80
Pass Marks : 26
Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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With a neat diagram explain different processor

registers?

% R g faftr=r Wex & 9=y |

Discuss about De multiplexer in brief ?

Sl TR & dR ¥ 9&Y § 9dIv |
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Discuss about cache memory organization ?

S ANl & IR | =dl B |

Explain about J.K. flip flop with circuit diagram?

4
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(a1) Xforex

(@) P

(W) fsarsx

(2) fhelu—galiy

A byte is group of .......... bits.
(a) 16

(b) 8

(c)4

(d) 28

MIMD stands for........

(a) Multiple instruction multiple data
(b) Multiple information memory data
(c) Memory instruction memory data
(d) None of these
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Answer all Five Questions.

Il ufg g & SR o

2.

4x5=20

Why NAND and NOR Gate is known as Universal

gate?
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(vii)
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Half adder circuit is a combination of ..........
(a) EX-OR and NOT gate

(b) NAND and NOR gate

(c) EX-OR and OR gate

(d) EX-OR and AND gate

(31) EX-OR ©d NOT e
() NAND T4 NOR 7T
(d) EX-OR ¥4 OR e

() EX-OR W4 AND e

Which of the following is not a combinational
circuit .

(a) Flip-flop

(b) Half Adder

(c) Register

(d) Both (a) and (c)
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(xvi) (1011),®T 2's HAH T T BI? (x)
(31) 0011
(9) o101
(®|) 0111
(=) 1000
(xvii) Which one is the advantage of virtual memory?
(a) Faster access to memory (xi)

(b) Process can be protected

(c) Program larger than the physical memory
size can be run.

(d) None of these

(i) 9 O I dgd AN &) faRvar 272

@) A9 &1 I ug4a

(@) 9w 3T e

(@) g o Aifae 39 @ gs71 81
I T BT

(®) 39 9 BIg 8l

(xi)

(xviii) A page fault :

(a) Occurs when a program access to a page
memory (xii)
(b) Is an error in a specific page
(c) Is an access to a page not currently in
memory
(d) None of these
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@) a7 999

(W) gers AW

(%) D3 A9

What characteristics of RAM memory makes
it not suitable for permanent storage.

(a) Too slow

(b) Unreliable

(c) Volatile

(d) Bulky

RAM #9II &T S A1 0T R R
@ fog aivg a8 2

(37) g e

(@) srfazaaia

SIKIGEES

(]) ged1

Floating point representation is used to store.
(a) Boolean values

(b) Whole numbers

(c) Real integers

(d) Integers
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10.

11.

OR (3121an)

Briefly explain any two cache mapping functions.

frgl g »9 AT v &) AT B |

Explain decoder with logic circuit and truth table.
8
fearex @ difoe o @ e arer &

OR (3121an)

Explain different types of flip-flop in details?

fafRtr~ yoR & fhellU—aciiy &1 FRAT DY |

Using booth's algorithm calculate the following.
(@) (-7) x (-8)
(b) (-16) x (-5)

8
929 AR A Frifed &1 ga |
@) (-7) x (-8)
(b) (-16) x (-5)
P.T.O
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Briefly explain any two cache mapping functions.

frgl g &9 AT v &) AT B |

Explain decoder with logic circuit and truth table.
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Explain different types of flip-flop in details?

faftr =1 YR & fhellU—acilu &1 FRAT B |

Using booth's algorithm calculate the following.
(@) (-7) x (-8)
(b) (-16) x (-5)

929 AR A Fr=ifed &1 ga X |
(@) (-7) x (-8)
(b) (-16) x (-5)
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